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Objective: Identify multiples and factors, including finding all factor pairs of a number, and
common factors of two numbers

e Year 5 Task 2:

This task is taken from the NRich website. To view the task, follow the link:
https://nrich.maths.org/7468?utm_source=primary-map Included on the website are tips on how to get
started and worked solutions. Enjoy!

Factor Track

Age 7 to 14 *k

Factor Track is not a race but a game of skill.
Below is a simple training version. The idea is to go round the track in as few
moves as possible, keeping to the rules.
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Rules:

You start on the (yellow) 60 and must make your way round to the (red) 'end’
square.

You can move any factor of the number you are on, except 1.

You must land exactly on each green square, so you can't go round corners in
one move.

Have a go at moving round this 'training' track following the rules.
Can you do it in fewer moves?

When you feel ready, try this more complicated track where there are possible
short cuts. You will have to work out whether they are worthwhile.
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Examples of solutions and strategies from the NRich website:

Factor Track

Age 7 to 14 *k

J Darcy from Pulner Junior School and Otto completed the first Factor Track in
the following 9 moves:

Divide 60 by 2 and move on 2 spaces, then divide 14 by 7 and move on 7
spaces. 7 is a factor of 28 so move on 7 spaces. 18 divides into 3 so move on 3
spaces. 14 divides into 2 so move on 2 spaces. 24 divides into 3 so move to 36.
36 divides into 3 to move to 32. 32 divides by 4 so move to 14. 14 divides by 7
to reach the end!

Lots of you went straight to the more challenging one and managed it in 10
moves including students from Wilson's School, St Helen's C of E Primary
School, Baston C of E Primary School, MacDiarmid Primary School and Highfield
School.

Ultra Violet Class from Unicorn explain their solution here:

Issy, Laura and Anna worked as a team to solve this problem. They found that
doing the training track gave them a very good understanding of the problem.
On the more complicated track they found the shortest route involved 10 steps.
They used a counter and recorded each step by writing the sequence of
numbers linked by arrows with the number of moves written above:

60 (3 moves) 48 (6 moves) 28 (7 moves) 51 (3 moves) 96 (4 moves) 81 (3
moves) 54 (2 moves) 87 (3 moves) 72 (4 moves) 49 (7 moves) END

They noted that the only point they could not go from corner to corner was on
the first row where they had to use 2 moves between the numbers but there
were lots of options:

60 to 14 to 28
60 to 48 to 28
60 to 25 to 28
60 to 45 to 28

They found using divisibility rules to check for factors of the larger numbers a
very useful approach. The most helpful one being the divisibility rule for the
number 3.

Alex, Jack and Jamie also came up with the shortest route of 10 steps. Peter,
Ben and Jack all tried going the longer route and found they could do it in 18,
17 and 16 steps. The shortest route of 16 steps was achieved by moving from
corner to corner in all but two cases. This was the first row as described above
and the very last column where they had to go 12 to 49 to END.
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